

Some finite summation formulas of arithmetic character.

To Professor O. Varga on his 50th birthday.

By L. CARLITZ (Durham).

1. Put

$$(1.1) \quad \frac{te^{xt}}{e^t-1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad B_n = B_n(0),$$

so that $B_n(x)$ is the Bernoulli polynomial of degree n in the notation of NÖRLUND [6]. Also let $\bar{B}_n(x)$ denote the corresponding Bernoulli function defined by

$$\bar{B}_n(x) = B_n(x) \quad (0 \leq x < 1), \quad \bar{B}_n(x+1) = \bar{B}_n(x).$$

MIKOLÁS [4] has proved the elegant formula

$$(1.2) \quad \int_0^1 \bar{B}_r(ax) \bar{B}_r(bx) dx = (-1)^{r-1} \frac{r! r!}{(2r)!} \left(\frac{(a, b)}{[a, b]} \right)^r B_{2r},$$

where (a, b) , $[a, b]$ denote, respectively, the greatest common divisor and the least common multiple of the integers a, b . More generally he has proved that the HURWITZ zeta-function defined for $R(s) > 1$ by

$$\zeta(s, x) = \sum_{n=0}^{\infty} \frac{1}{(x+n)^s}$$

satisfies, for $R(s) > \frac{1}{2}$,

$$(1.3) \quad \int_0^1 \zeta(1-s, \{ax\}) \zeta(1-s, \{bx\}) dx = \frac{2\Gamma^2(s)\zeta(2s)}{(2\pi)^{2s}} \left(\frac{(a, b)}{[a, b]} \right)^s,$$

where $\{x\} = x - [x]$ denotes the fractional part of the real number x .

Quite recently MORDELL [5] has proved that if $f_1(x), f_2(x), \dots, f_n(x)$ are functions of x such that for any positive integer k there exists the relation

$$(1.4) \quad \sum_{r=0}^{k-1} f_i\left(x + \frac{r}{k}\right) = C_i^{(k)} f_i(kx) \quad (i = 1, \dots, n),$$

where $C_i^{(k)}$ is independent of x , and a_1, \dots, a_n are positive integers that are relatively prime in pairs, then if the integrals exist

$$(1.5) \quad \int_0^A f_1\left(\left\{\frac{x}{a_1}\right\}\right) \cdots f_n\left(\left\{\frac{x}{a_n}\right\}\right) dx = A \int_0^1 f_1\left(\left\{\frac{Ax}{a_1}\right\}\right) \cdots f_n\left(\left\{\frac{Ax}{a_n}\right\}\right) dx = \\ = C_1^{(a_1)} \cdots C_n^{(a_n)} \int_0^1 f_1(x) \cdots f_n(x) dx,$$

where $A = a_1 a_2 \dots a_n$.

It is noted that both $B_r(x)$ and $\zeta(s, x)$ satisfy relations of the form (1.4). Specializing (1.5), MORDELL obtains

$$(1.6) \quad \int_0^1 \bar{B}_p(ax) \bar{B}_q(bx) dx = (-1)^{p-1} \frac{p! q!}{(p+q)!} \frac{(a, b)^{p+q}}{a^q b^p} B_{p+q} \quad (p+q \geq 2).$$

For $p = q = r$, (1.6) evidently reduces to (1.2).

2. In the present note we consider in place of the integrals occurring in (1.2), (1.3), (1.5), (1.6) certain finite sums. We first prove the following

Theorem 1. *Let $n \geq 1$ and let a_1, \dots, a_n be positive integers that are relatively prime in pairs and put $A = a_1 a_2 \dots a_n$. Let $f_1(x), \dots, f_n(x)$ be functions of x of period 1 that satisfy (1.4). Then if k is an arbitrary positive integer, we have*

$$(2.1) \quad \sum_{r=0}^{kA-1} f_1\left(\frac{r}{a_1 k}\right) f_2\left(\frac{r}{a_2 k}\right) \cdots f_n\left(\frac{r}{a_n k}\right) = \\ = C_1^{(a_1)} C_2^{(a_2)} \cdots C_n^{(a_n)} \sum_{r=0}^{k-1} f_1\left(\frac{r}{k}\right) f_2\left(\frac{r}{k}\right) \cdots f_n\left(\frac{r}{k}\right).$$

The proof is very similar to the proof of MORDELL's theorem. Put

$$(2.2) \quad A_s = a_1 a_2 \dots a_s \quad (1 \leq s \leq n), \quad A = A_n.$$

Then if S denotes the left member of (2.1) we get, on replacing r by $mkA_{n-1} + r$ and noting that $(A_{n-1}, a_n) = 1$, so that mA_{n-1} runs through

a complete residue system (mod a_n),

$$\begin{aligned}
 S &= \sum_{r=0}^{kA_{n-1}-1} f_1\left(\frac{r}{a_1k}\right) \cdots f_{n-1}\left(\frac{r}{a_{n-1}k}\right) \sum_{m=0}^{a_n-1} f_n\left(\frac{mA_{n-1} + r}{a_n}\right) = \\
 &= \sum_{r=0}^{kA_{n-1}-1} f_1\left(\frac{r}{a_1k}\right) \cdots f_{n-1}\left(\frac{r}{a_{n-1}k}\right) \sum_{m=0}^{a_n-1} f_n\left(\frac{m}{a_n} + \frac{r}{a_nk}\right) = \\
 &= C_n^{(a_n)} \sum_{r=0}^{kA_{n-1}-1} f_1\left(\frac{r}{a_1k}\right) \cdots f_{n-1}\left(\frac{r}{a_{n-1}k}\right) f_n\left(\frac{r}{k}\right) = \quad (\text{by (1.4)}) \\
 &= C_{n-1}^{(a_{n-1})} C_n^{(a_n)} \sum_{r=0}^{kA_{n-2}-1} f_1\left(\frac{r}{a_1k}\right) \cdots f_{n-2}\left(\frac{r}{a_{n-2}k}\right) f_{n-1}\left(\frac{r}{k}\right) f_n\left(\frac{r}{k}\right) = \\
 &= C_2^{(a_2)} \cdots C_n^{(a_n)} \sum_{r=0}^{kA_1-1} f_1\left(\frac{r}{a_1k}\right) f_2\left(\frac{r}{k}\right) \cdots f_n\left(\frac{r}{k}\right).
 \end{aligned}$$

For the final step replace r by $mk+r$, where $0 \leq m < a_1$, $0 \leq r < k$. Then

$$\begin{aligned}
 S &= C_2^{(a_2)} \cdots C_n^{(a_n)} \sum_{r=0}^{k-1} \sum_{m=0}^{a_1-1} f_1\left(\frac{m}{a_1} + \frac{r}{a_1k}\right) f_2\left(\frac{r}{k}\right) \cdots f_n\left(\frac{r}{k}\right) = \\
 &= C_1^{(a_1)} C_2^{(a_2)} \cdots C_n^{(a_n)} \sum_{r=0}^{k-1} f_1\left(\frac{r}{k}\right) f_2\left(\frac{r}{k}\right) \cdots f_n\left(\frac{r}{k}\right),
 \end{aligned}$$

where we have again used (1.4) in the inner summation. This proves the theorem.

We remark that for $n=1$, a_1 is an arbitrary positive integer.

If we divide both sides of (2.1) by k and let $k \rightarrow \infty$, then provided the limits exist it is evident that we get (1.5). We may think of (2.1) as a finite analog of (1.5), analogous to GOOD's formula [3]

$$P_n(x) = \frac{1}{k} \sum_{r=0}^{k-1} \left(x + \sqrt{x^2-1} \cos \frac{2\pi r}{k} \right)^n \quad (k > n)$$

for the Legendre polynomial. For other formulas of this kind see [1], [2].

We remark that the same argument leads to the following generalization of (2.1).

$$\begin{aligned}
 (2.3) \quad & \sum_{r=0}^{kA-1} f_1\left(x_1 + \frac{r}{a_1k}\right) f_2\left(x_2 + \frac{r}{a_2k}\right) \cdots f_n\left(x_n + \frac{r}{a_nk}\right) = \\
 &= C_1^{(a_1)} C_2^{(a_2)} \cdots C_n^{(a_n)} \sum_{r=0}^{k-1} f_1\left(a_1x_1 + \frac{r}{k}\right) f_2\left(a_2x_2 + \frac{r}{k}\right) \cdots f_n\left(a_nx_n + \frac{r}{k}\right),
 \end{aligned}$$

where the x_1 are arbitrary variables. For $k=1$, (2.3) reduces to

$$(2.4) \quad \sum_{r=0}^{A-1} f_1\left(x_1 + \frac{r}{a_1}\right) f_2\left(x_2 + \frac{r}{a_2}\right) \cdots f_n\left(x_n + \frac{r}{a_n}\right) = \\ = C_1^{(a_1)} C_2^{(a_2)} \cdots C_n^{(a_n)} f_1(a_1 x_1) f_2(a_2 x_2) \cdots f_n(a_n x_n),$$

which may be compared with (1.4).

3. We now suppose $n=2$ and consider first the case $f(x) = \bar{B}_m(x)$. Changing the notation slightly, (2.1) becomes for $(a, b) = 1$

$$(3.1) \quad \sum_{r=1}^{kab-1} \bar{B}_m\left(\frac{r}{ak}\right) \bar{B}_n\left(\frac{r}{bk}\right) = a^{1-m} b^{1-n} \sum_{r=0}^{k-1} B_m\left(\frac{r}{k}\right) B_n\left(\frac{r}{k}\right).$$

It is convenient to consider the slightly more general sum

$$(3.2) \quad S_{m,n} = S_{m,n}(x) = \sum_{r=0}^{k-1} B_m\left(x + \frac{r}{k}\right) B_n\left(x + \frac{r}{k}\right).$$

Making use of (1.1) we get (as in MORDELL's proof of (1.6))

$$\sum_{m,n=0}^{\infty} S_{m,n} \frac{u^m v^n}{m! n!} = \frac{u v e^{\alpha(u+v)}}{(e^u - 1)(e^v - 1)} \sum_{r=0}^{k-1} e^{r(u+v)/k} = \frac{u v e^{\alpha(u+v)}}{(e^u - 1)(e^v - 1)} \frac{e^{u+v} - 1}{e^{(u+v)/k} - 1} \\ (u+v) \sum_{m,n=0}^{\infty} S_{m,n} \frac{u^m v^n}{m! n!} = \frac{u v (u+v) e^{\alpha(u+v)}}{e^{(u+v)/k} - 1} \left(1 + \frac{1}{e^u - 1} + \frac{1}{e^v - 1}\right) = \\ = \frac{(u+v) e^{\alpha(u+v)}}{e^{(u+v)/k} - 1} \left\{ u v + \sum_{r=0}^{\infty} \frac{B_r}{r!} (u^r v + u v^r) \right\} = \\ = k \sum_{m,n=0}^{\infty} \frac{B_{m+n}(kx)}{k^{m+n}} \frac{u^m v^n}{m! n!} \left\{ u + v + \sum_{r=2}^{\infty} \frac{B_r}{r!} (u^r v + u v^r) \right\}.$$

Comparison of coefficients yields

$$(3.3) \quad \frac{1}{k} (m S_{m-1,n}(x) + n S_{m,n-1}(x)) = \\ = (m+n) \frac{B_{m+n-1}(kx)}{k^{m+n-1}} + \sum_{r=2}^{\min(m,n)} \left\{ \binom{m}{r} n + \binom{n}{r} m \right\} B_r \frac{B_{m+n-r-1}(kx)}{k^{m+n-r-1}}.$$

Now it is clear from (3.2) that

$$\frac{d}{dx} S_{m,n}(x) = m S_{m-1,n} + n S_{m,n-1};$$

thus integration leads to

$$(3.4) \quad \frac{1}{k} S_{m,n}(x) = \frac{B_{m+n}(kx)}{k^{m+n}} + \sum_{r=2}^{\min(m,n)} \left\{ \binom{m}{r} n + \binom{n}{r} m \right\} B_r \frac{B_{m+n-r}(kx)}{(m+n-r)k^{m+n-r}} + C_{m,n}$$

where $C_{m,n}$ is independent of x . But if we put $x=0$ and then let $k \rightarrow \infty$, (3.4) becomes

$$\int_0^1 B_m(y) B_n(y) dy = C_{m,n} \quad (m+n \geq 2),$$

so that [6, p. 31] or [5]

$$(3.5) \quad C_{m,n} = (-1)^{n-1} \frac{m! n!}{(m+n)!} B_{m+n} \quad (m+n \geq 2).$$

In particular for $x=0$, (3.4) and (3.5) yield

$$(3.6) \quad \frac{1}{k} \sum_{r=0}^{k-1} B_m\left(\frac{r}{k}\right) B_n\left(\frac{r}{k}\right) = \frac{B_{m+n}}{k^{m+n}} + \sum_{r=2}^{\min(m,n)} \left\{ \binom{m}{r} n + \binom{n}{r} m \right\} \frac{B_r B_{m+n-r}}{(m+n-r)k^{m+n-r}} + (-1)^{n-1} \frac{m! n!}{(m+n)!} B_{m+n} \quad (m+n \geq 2).$$

Returning to (3.1), since

$$\sum_{r=0}^{akab-1} \bar{B}_m\left(\frac{r}{ak}\right) \bar{B}_n\left(\frac{r}{bk}\right) = d \sum_{r=0}^{kab-1} \bar{B}_m\left(\frac{r}{ak}\right) \bar{B}_n\left(\frac{r}{bk}\right),$$

we readily obtain from (3.6) the following

Theorem 2. For a, b arbitrary positive integers, $k \geq 1, m+n \geq 2, K = k[a, b]$, we have

$$(3.7) \quad \frac{1}{K} \sum_{r=0}^{K-1} \bar{B}_m\left(\frac{ar}{K}\right) \bar{B}_n\left(\frac{br}{K}\right) = \frac{(a, b)^{m+n}}{a^n b^m} \left[\frac{B_{m+n}}{k^{m+n}} + \sum_{r=2}^{\min(m,n)} \left\{ \binom{m}{r} n + \binom{n}{r} m \right\} \frac{B_r B_{m+n-r}}{(m+n-r)k^{m+n-r}} + (-1)^{n-1} \frac{m! n!}{(m+n)!} B_{m+n} \right].$$

For $k = \infty$, it is clear that (3.7) reduces to (1.6).

4. For the HURWITZ zeta-function, the case $n=2$ of (2.1) implies

$$(4.1) \quad \sum_{r=0}^{kab-1} \zeta\left(1-s, \frac{r}{ak}\right) \zeta\left(1-t, \frac{t}{bk}\right) = a^{1-s} b^{1-t} \sum_{r=0}^{k-1} \zeta\left(1-s, \frac{r}{k}\right) \zeta\left(1-t, \frac{r}{k}\right).$$

If we recall the formula [7, p. 269]

$$\begin{aligned} \zeta(1-s, a) &= \frac{2\Gamma(s)}{(2\pi)^s} \left\{ \cos \frac{s\pi}{2} \sum_1^{\infty} \frac{\cos 2\pi an}{n^s} + \sin \frac{s\pi}{2} \sum_1^{\infty} \frac{\sin 2\pi an}{n^s} \right\} = \\ &= \frac{e^{\pi is/2} \Gamma(s)}{(2\pi)^s} \sum_{\infty}' \frac{e^{-2\pi ani}}{n^s}, \end{aligned}$$

where the prime indicates that $n \neq 0$, then since

$$\sum_{r=0}^{k-1} e^{2\pi rmi/k} = \begin{cases} k & (k|m) \\ 0 & (k \nmid m), \end{cases}$$

we get

$$\frac{1}{k} \sum_{r=0}^{k-1} \zeta\left(1-s, \frac{r}{k}\right) \zeta\left(1-t, \frac{r}{k}\right) = e^{\pi(s+t)i/2} \frac{\Gamma(s)\Gamma(t)}{(2\pi)^{s+t}} \sum_{k|m+n}' \frac{1}{m^s n^t},$$

the summation extending over all $m, n \neq 0$ such that $k|m+n$. Then exactly as in the proof of Theorem 2, we obtain the following

Theorem 3. For a, b arbitrary positive integers, $k \geq 1$, $K = k[a, b]$, s, t complex, $R(s) > 1, R(t) > 1$, we have

$$(4.2) \quad \begin{aligned} \frac{1}{K} \sum_{r=0}^K \zeta\left(1-s, \left\{ \frac{ar}{K} \right\}\right) \zeta\left(1-t, \left\{ \frac{br}{K} \right\}\right) &= \\ &= \frac{(a, b)^{s+t}}{a^t b^s} e^{\pi(s+t)i/2} \frac{\Gamma(s)\Gamma(t)}{(2\pi)^{s+t}} \sum_{k|m+n}' \frac{1}{m^s n^t}. \end{aligned}$$

In particular for $k = \infty$, (4.2) reduces to

$$(4.3) \quad \begin{aligned} \int_0^1 \zeta(1-s, \{ax\}) \zeta(1-t, \{bx\}) &= \\ &= 2 \frac{(a, b)^{s+t}}{a^t a^s} \cos \frac{(s-t)\pi}{2} \frac{\Gamma(s)\Gamma(t)}{(2\pi)^{s+t}} \zeta(s+t) \quad (R(s) > 1, R(t) > 1). \end{aligned}$$

For $s = t$, the right member of (4.3) reduces to

$$2 \frac{(a, b)^s}{[a, b]^s} \frac{\Gamma^2(s)}{(2\pi)^{2s}} \zeta(2s),$$

which is in agreement with (1.3).

5. We remark that

$$\zeta(1-p, x) = -\frac{1}{p} B_p(x) \quad (p = 1, 2, 3, \dots),$$

so that (1.6) is contained in (4.3) and similarly Theorem 2 is contained in Theorem 3. As pointed out by a referee, the sums

$$\sum_{r=0}^{k-1} B_m\left(\frac{r}{k}\right) B_n\left(\frac{r}{k}\right) \quad \text{and} \quad \sum_{r=0}^{k-1} \zeta\left(1-s, \frac{r}{k}\right) \zeta\left(1-t, \frac{r}{k}\right)$$

are generalized Dedekind sums and are closely related to the results in a recent paper by M. MIKOLÁS, On certain sums generating the Dedekind sums and their reciprocity theorems, *Pacific J. Math.* **7** (1957), 1167—1178.

The referee has also called the writer's attention to another paper by MIKOLÁS, Mellinsche Transformation und Orthogonalität bei $\zeta(s, u)$; Verallgemeinerung der Riemannschen Funktionalgleichung von $\zeta(s)$, *Acta Sci. Math. Szeged* **17** (1956), 143—164 in which (pp. 158—159) certain formulas involving $\zeta(s, u)$ are proved that imply both MORDELL's formula (1.6) as well as (4.3) under the restriction

$$\min(R(s), 1) + \min(R(t), 1) > 0.$$

Thus (1.6) and (4.3) cannot be regarded as new.

Bibliography.

- [1] W. A. AL-SALAM and L. CARLITZ, Some finite summation formulas for the classical orthogonal polynomials, *Rend. Mat. e Appl.* (5), **16** (1957), 75—95.
- [2] L. CARLITZ, A formula for the product of two Hermite polynomials, *J. London Math. Soc.* **32** (1957), 94—97.
- [3] I. J. GOOD, A new finite series for Legendre polynomials, *Proc. Cambridge Philos. Soc.* **51** (1955), 385—388.
- [4] M. MIKOLÁS, Integral formulae of arithmetical characteristics relating to the zeta-function of Hurwitz, *Publ. Math. Debrecen* **5** (1957), 44—53.
- [5] L. J. MORDELL, Integral formulae of arithmetical character, *J. London Math. Soc.*, **33** (1958), 371—375.
- [6] N. E. NÖRLUND, Vorlesungen über Differenzenrechnung, *Berlin* 1924.
- [7] E. T. WHITTAKER and G. N. WATSON, A course of modern analysis, (4th edition) *Cambridge* 1927.

(Received October 25, 1958.)